Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Winter Examination-2022

Subject Name: Thermal Engineering -1
Subject Code: 2TEO5THE1 Branch: Diploma (Mechanical)
Semester : 5 Date : 25/11/2022 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
1) A spark plug gap is kept from 01
1) 0.3t0 0.7 mm 3) 0.4to 0.9 mm
2) 0.2t0 0.8 mm 4)0.6t0 1.0 mm
2) The refrigerant widely used in domestic refrigerators is 01
1) Ammonia 2) R-12 3) carbon dioxide
3) A Diesel engine has compression ratio from 01
1) 61010 2)10to 15 3)15t0 25 4) 2510 40
4) One tonne of refrigeration is equal to 01
1) 21kJ/min 2) 210 kJ/min 3) 310 kJ/min 4) 420
kJ/min
5) Which of the following cycles uses air as the refrigerant.......? 01
1) Carnot  2) Stirling  3) Ericsson 4) Bell-coleman
6) A carburetor is used to supply 01
1) Petrol 3) air and petrol
2) Petrol and diesel 4) diesel
7) The calorific value of gaseous fuels is expressed in terms of..... 01
1) Kecal 2) Kcal/kg 3) Kcal/m2 4) Kcal/m3
8) Which are the two main alcohols used in the engine as a fuel? 01
1) Butanol and methanol 2) Propanol and butanol
3) Ethanol and propanol 4) Methanol and Ethanol
9) Air conditioning means 01
1) Cooling 2) heating 3) dehumidification 4) all of
these
10)  The C.O.P. of domestic refrigerator....... 01
1) islessthanl 2)Ismorethanl 3)Isequaltol 4)none of
these
11)  Which of the following is the material of tubes used for shell and tube 01
condenser in ammonia refrigeration system?
1) Copper 2) Steel 3) Brass 4) Aluminum
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12)

13)

14)

Indicated power of a 4-stroke engine is equal to
1) 4pLAN 2) pLAN/2 3) pLAN  4) 2pLAN
Bio-diesel is made of what residuals?

1) Plant ol 2) Animal fat 3) Plant oil and animal fat
4) Edible oil
The ignition quality of petrol is expressed by

1) Cetane number 3) Calorific value

2) Octane number 4) All of these

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-8
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Attempt all questions

Write difference between external and internal combustion engine.
State the purpose of governing. Explain any one method of governing.
State the reasons for failing a spark plug.

Attempt all questions

Explain about different kinds of alternative fuels.
What is CNG? State its advantages.

What is supercharging? What is its purpose?

Attempt all questions
Write properties of refrigerant.
Explain two stroke Petrol engine with figure.

Attempt all questions

With a schematic sketch explain the function of various parts of the
VCRS.

Explain Reverse Carnot cycle with diagram.

Attempt all questions

Draw and explain actual valve timing diagram of four stroke diesel
engine.

Give difference between hermetically shieled compressor and open
compressor.

Attempt all questions

Write difference between window air conditioning and split air
conditioning.

Explain briefly the concept of heat engine, heat pump and refrigerator
with figure.

Attempt all questions
Define condenser & list the types of condenser and explain Evaporative
type condenser with figure.

A 4 cylinder 4-stroke petrol engine develops IP of 147 KW at 1000 rpm.

The mean effective pressure is 5.5 bar. Calculate the Bore and stroke of
the engine.
Given :- Stroke is 1.5 time bore
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